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There are 100 children in year 6. There are 100 children in year 6.
60% of the children walk to school. 60% of the children walk to school.
4) %oj’ the children travel by car. 4) %oj the children travel by car.
The rest of the children either cycle or catch the bus. The rest of the children either cycle or catch the bus.
What fraction of the children either cycle or catch the bus? What fraction of the children either cycle or catch the bus?
5) 452 x 43 = 5) 452 x 43 =
6) 5-8= 6) 5-8=
Vo) What is the value of the 8 in this number? 7 What is the value of the 8 in this number?
3,587,246 3,587,246
8) What are the common factors of 12 and 30? 8) What are the common factors of 12 and 30?
9 4 x (5x3) = b)) 4 x (5x3) =
10) 300 + 20 = 10) 300 + 20 =
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